
 

 

Scarf Swallowfield 

One size (but you can change it!) 

 

Note about the size of this scarf : here I made it for an adult and it’s long (210 cm).You can easily 

make it shorter for your family and friends. 

Material: 

Needles 8mm, a cable needle, 

4 skeins of  British Wool Artesano color cream. 

Abbreviations and points : 

k : knit 

p : purl 

*…* : repeat the pattern from*to* as many times as you need. 

Seed stitch :  

Right side row : *k1, p1*. 

Wrong side row : *p1, k1*. 

Twist 1 :  

With 6 stitches : hold 3 stitches on the cable needle placed in front of your work, knit 3, hold back the 

3 stitches of the cable needle and knit them. 

Twist 2 : 

With 22 stitches : hold 11 stitches on the cable needle placed in front of your work , knit 11 hold back 

the 11 stitches of the cable needle and knit them. 
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Work : 

Cast on 30 stitches. 

Knit 4 rows of seed stitch. 

Then, fo the first part of the scarf:  

Row 5 (right side of the work) : (k1, p1) x11, k6, k1, p1. 

Row 6 (wrong side of the work) : p1, k1, p6, (p1, k1) x11 

Row 7: (k1, p1) x11, Twist 1, k1, p1. 

Row 8= row 6 

Row 9, 13=row 5 

Row 10, 12, 14, 16=row 6 

Row 11, 15= row 7 

Row 17 and 21: (k1, p1) x6, k6 , (k1, p1) x2, k6, k1, p1. 

Row 18, 20, 22 and 24: p1, k1, p6, (p1, k1) x2, p6, (p1, k1) x6. 

Row 19 and 23: (k1, p1) x6, Twist 1, (k1, p1) x2, Twist 1, k1, p1. 

Row 25: k1, p1, k6, (k1, p1) x2, k6, (k1, p1) x2, k6, k1, p1. 

Row 26 and 28 : p1, k1, p6, (p1, k1) x2, p6, (p1, k1) x2, p6, p1, k1. 

Row 27: k1, p1, Twist 1, (k1, p1) x2, Twist 1, (k1, p1)x2 , Twist 1, k1, p1. 

Repeat the rows 25 to 28 as many times as necessary up to 30cm in height. 

Then, begin the central part : 

Row 1, 3, 5, 7, 9 (right side of the work): (k1, p1) x2, k22, (k1, p1) x2. 

Row 2, 4, 6, 8, 10 and 12 (wrong side of the work): (p1, k1) x2,p22, (p1, k1) x2. 

Row 11: (k1, p1) x2, Twist 2, (k1, p1) x2. 

Repeat these 12 rows as much as is needful to obtain the deliberate length, keep in mind that is 

needed enough wool to make face to face of the first part. 

Last part : 

Row 1 (right side of the work): k1, p1, k6, (k1, p1) x2, k6, (k1, p1) x2, k6, k1, p1. 

Row 2 and 4(wrong side of the work): p1, k1, p6, (p1, k1) x2, p6, (p1, k1) x2, p6, p1, k1. 

Row 3: k1, p1, Twist 1, (k1, p1) x2, Twist 1, (k1, p1)x2, Twist 1, k1, p1. 

Repeat these 4 rows as much as is needful to have the same number of rows where appear 3 twists 

that in the first part. 

Then: 

Row 1 (right side of the work): (k1,p1) x6, k6, (k1, p1)x2, k6, k1, p1. 

Row 2 and 4 (wrong side of the work): p1, k1, p6, (p1, k1)x2, p6, (p1, k1) x6. 

Row 3: (k1, p1) x6, Twist 1, (k1, p1)x2, Twist 1, k1, p1. 

Repeat once again these 4 rows. 

Then : 

Row 1 (right side of the work) : (k1, p1) x11, k6, k1, p1. 

Row 2 and 4 (wrong side of the work): p1, k1, p6, (p1, k1) x11 

Row 3: (k1, p1) x11, k6, Twist 1, k1, p1. 

Repeat still twice these 4 rows 

Finish by 4 rows of seed stitch, bind off flexibly stitches by knitting them. Bring in the threads and cut 

them to short. 


